Moto-All.ru

CIIMCOK JOETAJIEU [JI4 "TIE ROD ASSEMBLY" ARCTIC CAT T570

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEY [IJ19 "TIE ROD ASSEMBLY" ARCTIC CAT T570

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 8427-802 CpOoK ITOCTaBKM OT 22 OHeH laiika m8x1.25 0
2 2603-436 CpOK IIOCTaBKH OT 22 [Hel Ocnb 0
3 1707-115 CpoK ITOCTaBKM OT 22 OHeH Cormka pynesast 0
4 1623-010 B nanuuuu OuTTHHT 0
5 8408-885 CpoK II0CTaBKM OT 22 OHeH BunT m8x1.25x85 0
6 1705-217 CpoK ITOCTaBKM OT 22 OHeH Hanpasnsromniasi mraHra 0
7 0605-760 CpOK IIOCTaBKH OT 22 [Hel TTomIIUmHUK 0
8 1623-662 CpoK IIOCTaBKM OT 22 OHeH BunT m8x1.25%40 0
9 8408-045 CpOK ITOCTaBKM OT 22 OHeH Bunt m10x1.25x45 0
10 8408-065 Cpok noctaBku 0T 19 gHen Burt m10x1.25x65 0
11 8427-002 B Hanuuun lasixa m10x1.25 0
HakoHeYHHUK pyJeBoH
12 1605-018 CpOK IIOCTaBKH OT 22 [HeU mpaB m10x1.25 (10mm 0
OuaM. OTBEPCT.)
13 8420-002 CpoK II0CTaBKM OT 22 OHeH laiika m10x1.25 0
14 0605-926 CpOK [IOCTaBKY 0T 22 NHeit Tpybxa 0
m10x1.25x314mm
15 0423-013 CpOK IIOCTaBKH OT 22 [Hel laika m10-1.25 neB. 0
16 1605-019 CpOK IIOCTaBKu OT 22 fHEeH JII{:;{.OS‘;;I;I{I.I; é)yneBoﬁ 0
17 1605-021 CpoK nocTapky ot 22 mHEl Haxonesmm neswtit 10| g
18 0605-925 CpOK IIOCTaBKH OT 22 [He# Tpy6xa 0
m10x1.25x193mm




